(00 0O O loser] O [ 10 om806

oooo 000 Oloserd O O O om806

gogd guouoobbougooooo

00 10000.00/00

ooon O0:0000 loser
U 0 :om806

gogd bbb bdodnobuudg Al 1208
U

oogd 010-59396807 13810490146

O00dn

godd

IO0ser-om806mO 0 OO0 I0ser 00000000 O0O0ODOO0OO0O0ODOIOserd00b0OOobDOoOon
O000Oos000b00bd0bob0o0b00boboobOoonoOise’oi 0 dceed D ONDserd O

gooooobood

godd

oO0g@obooooboobObooobooo)yooboobboooboobboobooboboooo
godoobbtbotoooooobbtoooooobbbboooooobbboooooooobobod
gooooobood

Oserd 00000000 0O0O0ODO0O0OOOO0ODO0O0OOOO0ODOO0ObObOOODbDOUObObOObODbDOn
goooobbboooooooobbogoad
godoobbtbotoooooobbtoooooobbbboooooobbboooooooobobod
godoobbbgoodgoobbbogogoooobbod

godoobbbgoodgoobbbogogoooobbod

godoobbtbotoooooobbtoooooobbbboooooobbboooooooobobod
god




gobbobbbdogoooobbobbbdoooooboboobbboooooobobobbboooaan
ooodooo@ouooboobob)y bobobooouoooooooobobobuobobooog
OO00000000DbO0ODbO0bOOoboOnbOoddmosm/kgh2o0d

gobobboooooobbobobod

OO0OoO0oodOlcdODO

goboooobood

gobobbbodoooobbobbooood

gobobbbodoooobbobbooood

goboomosm OO0 OOOOOOOOODOOOOOOO

gobboobbodooooobbo

o000 101~5001

OO0O000 01300 (o0l

000000 + 05%(50 0 1)/+ 1%(10 ~ 250 1)

00000 00 2500mosm/ kgh2o

goboo0 0180mm,d 278mm, U 216mm

00000 mosm/kg h2o

O O O O O O
O O O O O O
O O O O O O
O 0 O O O O
O ~ O O O
O °X° O O
O Q O O
3 O

O

N



230vac(100/115vac] O [0 [O0) [ 45va

O00cedd

e

DO00000000bOO0obOobOoDbos3omosm/kghzo0 OO ODODUODODOOOOOOOODOODOODO
OO0O000000000b0bO0bOobOOoboooOoOoO0oO0ononoenomosm/kg h2o

goboboboogdad

2x1001 [0 O O (30000 900mosm/kgh2o[1 1)

goooood

2. [0 00 00 900mosm/ kgh2o[l

= O O O O O Q O
= O O O O O O O
0 O O O O O O O
O O O O O O O O
O O O O

| [ [

0 O

O

O

O


http://www.tcpdf.org

